5. What is Caspases ? How it mediates the apoptic
pathway ?
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6. Explain the correct order of events in the

development of nervous system. M.Sc. (Fmal) Examination
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7. Why is neuro-physiological and chemical Biology)

techniques better than neuro-anatomical technique
to study animal behaviour ? Paper : MZO-07
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& T ) Note -— The question paper is divided into two Sections

. : D A and B. Write answers as per the given
8. Describe social organization in Hanuman Langurs. p &

TIEE R H G TS hl HHEET | instructions.

9. Differentiate the following : frder - %y o ot 1wt # it w1 v
(i) STM & LTM e & FRYgER TR & W I
(ii) Learning and Instict Section-A 8x2=16
(iii) Habituation and Conditioning (Very Short Answer Type Questions)
frefafea =1 fadfeq wifsw - Note .— Answer all questions. As per the nature of the
(i) STM T LTM question delimit your answer in one word, one
(i) siferm qen gfa sentence or maximum up to 30 words. Each
(iil) SATEAA AT TR question carries 2 marks.
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What is Secondary Productivity ?
fadia ScaeeRar =1 % 2
Define Biomagnification.
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Why have population biologists became
particularly interested in the dynamics of
metapopulation ?
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State Hamilton’s rule.

Bfgeed =1 fram s

Which gland regulation biological clock in
higher vertebrates ?
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What is Ingression ?
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(vii) What are Homeobox Sequences ?
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(viii) What is the role of the bicoid genes in

Drosophila Development ?
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Section-B 4%x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
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. Differentiate characters of r and k-strategists. Why

do less competitive r-stragists not disappear ?
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. Compare and contrast how total biomass, GPP,

NPP, community respiration and nutrient use
efficiency change during late successional stage.
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. What are patterns of species richness in relation

to latitude and altitude, area and environmental
variability, disturbance, nutrients, predation rate,
productivity ?
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